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Extra Practice Sample Answers
Extra Practice 3 – Master 2.19
Lesson 2.3

1.
a)
28
b)
22
c)
14


d)
–4
e)
64
f)
4

g)
34
h)
16

2.
a)
128
b)
32
c)
32
d)
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e)
512
f)
8
g)
512
h)
8

3.
a)
65
b)
–9
c)
55 

d)
80 000
e)
256
f)
1

4.
a)
15 ÷ (3 + 2) × 42 – 5 = 43


b)
15 ÷ 3 + 2 × (42 – 5) = 27
c)
(15 ÷ 3 + 2) × 42 – 5 = 107
d)
15 ÷ 3 + (2 × 4)2 – 5 = 64

5.
About 6 jars
6.
a)
The correct solution:
(–4)2 – 3[(–9) ÷ 3]2 = (–4)2 – 3(–3)2 = 16 
– 3(9) = 16 – 27 = –11 
b)
Shane probably thought that (–3)2 = –9; here is a possible incorrect solution:
(–4)2 – 3[(–9) ÷ 3]2 = (–4)2 – 3(–3)2 = 16
 – 3(–9) = 16 + 27 = 43 
Aftab probably multiplied –3 and –9 before evaluating in the brackets and applying the exponent. Here is a possible incorrect solution:
(–4)2 – 3[(–9) ÷ 3]2 = 16 + (27 ÷ 3)2 = 
16 + 92 = 16 + 81 = 97
Kyra probably squared the 3 before doing any other operation. Here is a possible incorrect solution:
(–4)2 – 3[(–9) ÷ 3]2 = 16 – 3[(–9) ÷ 9] 
= 16 – 3(–1) = 16 + 3 = 19
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